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BIOLOGY S8C-Ii
SECTION — A (Magrks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes amd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pancil.

Q.1  Circle the correct option i.e. A/ B/ C/D. Each part carties one mark.

(1} A disease involving the breakdown of air sacs of lungs is:
A Pneumonia B. Bronchitis C. Asthma D Emphysema
(i) Mucilage is produced in plants.
A Coniferous B. Carnivorous  C. Keekar D Rubber piant
(i) All of these are parts of hind brain EXCEPT:;
A, Pons B. Meduila oblongata
C. Cerebellum D. Cerebrum
(iv) In some plants, ovaries develop into fruit without fertilization. This process is known as:
A Parthenocarpy B. Dormancy
C. Germination D. Development
(v) Rhizopus reproduces asexually by:
A Binary Fission B. Budding
C. Spore formation D. Endospore formation
(vi} Mendel carried out a large number of experiments on:
A Pistum Stivum B. Homo sapiens
10 Allium cepa D. Brassica campestris
(vii) When we eat onion, our trophic level is:
A Producer B. Primary consumer
C. Secondary consumer D. Decomposer
(viip  All of these are endo parasites EXCEPT;
A, Ascaris B. Tapeworm C. Plasmodium  D. Lice

(ix) Which of the following enzyme is used to dissolve blood ciots?

A Endonuclease B. Urokinase C. Lypase D. Ligase
{(x) Aspirin is categoerized as;

A A drug from animals B. A drug from plants

C. A synthetic drug L. A drug from minerals
(x1) Oxytocin and vasopressin are secreted by:

A Pituitary gland B. Thyroid gland

C. Pancreas D. Adrenal gland
(xii) The disorder in which there is an accumulation of uric acid in joints is called:

A Osteoprosis B. Osteo-arthritis

C Gout D. Rheumatoid arthritis
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BIOLOGY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marip 33)
Q.2  Answer any ELEVEN parts. The answer to each part sheuld not exceed 3 to 4 lines. (11 x 3 =33)

() Write down the importance of foliowing:

a. Vocal cords
b. C-shape of cartilage in Trachea
C. Alveoli
(i) Write down the causal organism, symptoms and treatment of pneumonia.
(it) Describe the role of skin in Homeostasis in human body.
{iv) Draw a labelled diagram of urinary system of human.
(v) Explain osmotic adjustment in xerophytes.
(vi) What is Iris? Describe its function.
{vii) Define ‘Hinge joint’ and ‘Ball and Socket joint’. Give one example of each.
(vii)  What are chromatin, nucleosome and loci?
(iX) Write a short note on carnivorous plants.
(x) Differentiate between cartilage and bone.
(xi) What ts the importance of biotechnology in the field of medicine?
(xil) Which micro-organisms are used for manufacturing of following products?
a. Formic Acid
b. Glycerol
c. Acrylic Acid

(xii)  What are the objectives of genetic engineering?
{(xivi  Define antibiotics. What are broad spectrum and narrow spectrum antibiotics?
{xv) Write a brief note on Hashish.

SECTION — C (Magiss 20)
Note: Attempt any TWO questions. All questions carry equal marks. Also draw labelled diagrams where
necessary. (2x10 = 20)
Q.3 a Explain nitrogen cycle, also draw its flow sheet. (4+2)
b. Which is the largest part of forebrain? Explain it. (1+3)
Q.4 a Write a note on female reproductive system of Rabbit. Draw its labelled diagram. (4+2)
b. Describe Pancreas as double gland. (04)
Q.5 a. Explain foliowing terms:
(i) Parthenogenesis (2.5)
(i) Dormancy (2.5)
b. Explain Mende!'s law of Segregation with suitable example. (3+2)
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